Self Check

1. Identify the mass number and atomic number of a
chlorine atom that has 17 protons and 18 neutrons.

2. Explain how the isotopes of an element are alike and
how are they different. .

3. Explain why the atomic mass of an element is an aver-
age mass. |

4. Explain how you would calculate the number of neu-
trons in potassium-40.

5. Think Critically Chlorine has an average atomic mass
of 35.45 amu. The two naturally occurring isotopes of
chlorine are chlorine-35 and chlorine-37. Why does this

indicate that most chlorine atoms contain 18 neutrons?




